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ESOLVING UNION AND MANAGEMENT
DIFFERENCES
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closed shop A situation in which the employer agrees to hire only union members (page 200)

union shop An employment situation where a worker does not have to belong to the union to be hired
but must join soon after and remain a member for as long as he or she keeps the job (page 201)

modified union shop Under this arrangement, workers do not have to belong to a union to be hired and
cannot be made to join one to keep their jobs (page 207)

agency shop .An agreement that does not require a worker to join a union as a condition to get or keep
a job, but does require the worker to pay union dues to help pay collective bargaining costs (page 201
grievance procedure A contract pravision for resolving issues that may come up later (page 202)
mediation The process of bringing in a neutra! third person or persons to help settle a dispute (page 202}

arbitration A process in which both sides agree to place their differences before a third party whose
decision will be accepted as final and binding (hage 202)

fact-finding An agreement between union and management to have a third neutral party coliect facts
about a dispute and present nonbinding recommendations (page 202)

injunction A court order not to act {page 203)
seizure A temporary takeover of operations (page 203)

Has your favorite pro-balt team ever missed a game or games because of a problem with the
team’s management? Do you know the issues that were involved? How were these issues
resolved? In the tast section, you read about the development of labor unions. This section focus-
es on ways labor and management try to solve their differences.

Use the diagram below to help you take notes as you read the summaries that follow. Think
about the different kinds of fabor unions.

. B _ - Kinds of.-La_b_.or Unions SR S
Closed Shop Union Shop Modified Union Shop Agency Shop

Study Guide 67




Date Class

STU Y Gﬁ E DE (continued) Chapiea‘ 8 Sechon 2 E:

(-G-GO G-~ O >0 Tagli ne By Sy s S e a B v

Kinds of Union Arrangements (page 200)

The labor movement has organized workers in various ways to deal with management better. In
the dlosed shop, the employer agrees to hire only union members. In the union shop, workers
do not have to belong to the union to be hired. However, they must join the union soon after
they are hired and continue to be members to keep their jobs. In the modified union shop,
workers do not have to befong to a union to be hired or to keep their jobs. However, if they

join the union, they must remain members as long as they hold their jobs. In the agency shop, -
workers do not have to join a union. However, they have to pay union dues to help pay the cost
of collective bargaining.

1. Why do you think nonunion wotkers in an agency shop are required to share in the cost of
collective bargaining?

Collective Bargaining (page 202)

During collective bargaining, representatives from labor and management meet. If their talks

are successful, both parties agree on basic issues such as pay, working conditions, and fringe
benefits. To take care of future problems, the final agreement between the two also may include
a grievance procedure. A grievance procedure sets up steps to follow to solve disagreements
that may come up later.

If labor and management cannot agree, there are several ways in which they might try to over-
come their differences:

A. Mediation is the process of bringing in a third party (an "outside” person or group who will
not be affected by the decision). The third party looks at both sides of the argument and helps
settle the differences.

B. Arbitration is a process in which both sides agree to place their differences before a third
party whose decision will be accepted as final.
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C. Fact-finding is an agreement between union and management to have a third party collect
facts about a disagreement and offer solutions.

D. Either labor or management might try to get an injunction, which is an order from a law
court not to take some action. For example, management might get an injunction ordering
labor not to strike, making it illegal if they do.

E. Seizures are government takeovers of operations. This helps the government work with the
union.

E The president can step in to help both parties settle their problems. The president can also use
emergency powers to end strikes.

2. How is mediation different from arbitration?
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unskilled fabor Those who work primarily with thelr hands because they lack the training and skills
required for other tasks (page 205)
semiskilled labor Workers with enough mechanical abilities and skills to operate machines that require
a minimum amount of training (page 206)
skilied labor Workers who are able to operate compiex equipment and can perform their tasks with little
supervision (page 206)
professional labor Those individuals with the highest level of knowledge-based education and managerial
skills (page 206)
" noncompeting labor grades Broad categories of labor that do not directly compete with one another
because of experience, training, education, and other human capital investments {page 206)
wage rate A standard amount of pay given for work performed (page 267)
traditional theory of wage determination The theory that states the supply and demand for a worker's
<kills and services determine the wage or salary (page 207)
equilibrium wage rate Tne wage rate that leaves neither a surplus nor a shortage in the iabor market
{page 207)
theory of negotiated wages The theory that states that organized labor's bargaining strength is a factor
that helps determine wages (page 208 o
seniority The length of time a person has been on the job (page 208)
signaling theory Theory that states that employers are usually willng to pay more for people with certifi-
cates, diplomas, degrees, and other indicators or “signals” of superior ability (page 208)
Jabor mobility The ability and willingness of workers to relocate in markets where wages are higher
{page 209) :
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What kind of job do you hope to have someday? What do you think you need to qualify for that
job? :

In the last section, you read about how labor and management try to solve their differences. This
section focuses on why wages differ from job to job and place fo place.
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Use the chart below to help you take notes as you read the summaries that follow. Thlnk about
how education affects the different types of iabor.

Examples of the Different Types of Labor
Unskilled Labor Semiskilled Labor Skilled Labor Professional Labor
1 1 1. 1
2 2. 2 2
3 3. 3 3

Categoaries of Labor (page 205)

Unskilled labor includes people who work primarily with their hands because they don't have
the training and skills for other jobs. Unskilled workers do jobs such as digging ditches, picking
fruit, and mopping floors. They earn some of the lowest wages, or pay. Semiskilled labor
includes workers who have a little bit of training to operate machines such as electric floor polish-
ers, dishwashers, and lawnmowers. Skilled labor includes workers who can operate complex
equipment. These include workers such as carpenters, typists, and computer technicians.
Professional labor includes persons with the highest level of education and management skills.
Examples are doctors, fawyers, and business executives. Professionals generally have the h|ghest
incomes.

1. In which categories of labor would you place chefs, cleaning crews, and scientists?

Noncompeting Labor Grades (page 206)

Noncompeting labor grades are broad categories of workers who do not directly compete
with one anather for jobs. For example, unskilled workers generally do not compete with skilled
workers, and skilled workers do not usually compete with professional workers. -

Most people do not go from one category to another for the following reascns:
A. Cost of education and training \

B. Lack of opportunity—for example, living in an area where there are no colleges
C. Not willing to put forth the effort ‘

2. Beth is a bright, hardworking cleaning woman in a college town. Which reason above most
likely explains why she does not follow her dream of becoming a doctor? Explain.

Study Guide . 73




Class

o S 2,

Chapter 8, Section 3 %g

Wage Determination (page 207)

A wage rate is a base amount of pay given for a job.
Differences in wage rates are explained in three ways:

A. The traditional theory of wage determination states that supply and demand help decide
what workers earn. This explains the high salaries of professional athietes. Since teams have a
high demand for talented players and the supply of good athletes is small, professional ath-
letes usually earn a lot of money. The equilibrium wage rate is the pay rate at which there
are neither too many ror too few people in the labor market. :

B. The theory of negotiated wages states that organized labor's bargaining strength helps
decide wages. One factor involved in this theory is seniority—the length of time a person
works on a job. Workers with more seniority generally receive higher negotiated wages than
others who do the same work. '

C. The signaling theory states that employers generally pay rmore when people have certificates,
diplomas, and degrees. People who have these things give the impression, or “signal,” that
they have a good ability to learn things and work hard.

3, Tim, a college graduate, gets a promotion and a raise in the Oak Park fire department before
Jim, who has only a high-school education and has served in the department five years
longer. What theory of wages accounts for Tim's raise?

st

[¢] Regional Wage Differences (page 209)

Wages can be different for the same job from one part of the country to another. Why?

One reason is that there are more skilied workers in some parts of the country than in others.
Labor mobility—the ability and willingness of workers to move to a different area for higher
wages—can reduce these differences. Another factor that affects wages is cost of living. For
example, the cost of living is higher in Alaska than in southern states, so employers tend to
offer higher wages in Alaska. Location can also make a difference. Some workers think certain
places are so attractive they are willing to work for less to live there. '

4. What is the most likely reason that a worker who enjoys fishing would leave a high-paying
job in New York for a low-paying job in Montana? Explain. )

e

72 : Study Guide

“ouy ‘sepredwiory fI{-#e1a] L, 4q @ 3yBudder




Name : Date Class

For use wzth texfboofe pages 21 1-218

MPLOYMENT TRENDS AND ISSUES

wm*mmm TR N R RO R R e R | SR e e T A S e :m\mmzm'mm R TR

KEY TERMS

g giveback A wage, fringe benefit, or work rule given up when a labor contract is negotiated (page 2712

two-tier wage system A system that keeps high wages for current workers but has a much lower wage
for newly hired workers (page 212)

glass ceiling An invisible barrier that obstructs the advancement of women and minorities up the
corporate ladder (page 274)

comparable worth The principle stating that people should receive equal pay for equal work that is
different from, but just as demanding as, other types of work (page 215)

set-aside contract A guaranteed contract reserved exclusively for a targeted group {page 215)
part-time workers Those workers who regularly work fewer than 35 hours a week (page 276)
minimum wage The lowest wage that can be paid by law to most workers (page 216}

current dollars Dollars that are not adjusted for inflation (page 2718)

real/constant dollars Dollars that are adjusted in a way that removes the distortion of inflation (page 278)
base year A year that serves as a companson for all other years (page 278)
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Do you know someone who earns a larger or smaller allowance than you do for about the same
amount of work? Do you think this is fair? Why or why not? :

fn the last section, you learned about why wages are different. This section focuses on employ-
ment issues that affect today’s worker.

Use the diagram below to help you take notes as you read the summaries that follow. Think
about the factors that caused the decline of unions.

Causes Effect

2, : »  Decline of Union Influence

\
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Decline of Union Influence (page 277)

The membership and influence of labor unions are going down today, and this affects the economy.
There are three reasons for this change: '

A. Many employers tried hard to keep unions out of their businesses.

B. Many new workers—especially women and teenagers—are not interested in unions. These
workers are often not the main source of the famity’s income. For that reason, they may be
willing to work for low pay.

€. Many unions raise wages 5o high that companies have to charge high prices for the products
that these workers make. Expensive products do not sell as well as cheap products, Companies
are forced to cut back on production and lay off workers.

One way employers have been able to reduce the money they pay to union workers is by asking
for givebacks. Givebacks are wages or other benefits that union members agree to give up when
they are trying to get anew labor agreement. Union workers agree to givebacks because they are
afraid that if they don’t agree, the company may go out of business. Another way that some
employers get rid of labor contracts is by proving that the company is bankrupt. (Bankruptcy is a
situation in which a company cannot pay its bills.} If a company can prove that union wages
helped make it become bankrupt, federal courts may let the company go back on its agreements
with union workers. An additional way that companies reduce union salaries is by using a two-tier
wage system. A two-tier wage system keeps high wages for people who are already working
for the company.

1. Name three ways employers use to lower union salaries.

Lower Pay for Women (page 213)

In general, women earn less money than men. Some of this difference occurs because, on the
whole, women have fewer skills and less job experiences than men. In addition, more men than
women look for certain high-paying jobs, such as those in the construction (building) industry. More
than one-third of the difference is due to discrimination in the labor market. Women and minorities
often hit a glass ceiling, or invisible barrier that keeps them from moving up in companies.

The federal government has tried to end discrimination in the workplace. The Equal Pay Act of 1963
states that companies must give the same pay 0 different people who have the same kind of fob.
The Civil Rights Act of 1964 set up the Equal Employment Opportunity Commission, and one of the
jobs of this commission is to investigate job discrimination. The principle of comparable worth
states that people should receive equal pay for work that is different from, but just as demanding
as, other types of work. Another way of correcting job discrimination is the use of set-aside con-
tracts. Set-aside contracts are job contracts set aside for a certain group such as minority-owned
businesses.
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2. What are three ways the federal government tries to fight discrimination in the workplace?

Part-Time Workers (page 216)

Part-time workers regularly work fewer than 35 hours per week. The odd hours many part-time
workers have give them the opportunity to do other things, such as attend coliege, during the
standard 40-hour work week. Part-time workers also give employers flexibility in scheduling.
However, part-time employee wages and benefits average slightly more than $10 per hour—less
than one half of the amount per hour spent on full-time warkers. Unions are against part-time jobs
because many workers who want to work full time are scheduled for part time and get less pay.

3. What is an advantage and a disadvantage of part-time work for an employee?

The Minimum Wage (page 216

The minimum wage is the lowest legal wage that employers can pay to most workers.
Supporters of the minimum wage argue that it is necessary to help certain workers. Some people
are against the minimum wage because it limits economic freedom. Viewed in current dolfars,
or dollars that are not adjusted for inflation, minimum wages from 1939 to 1997 seemed to have
greatly increased. However, economists change current dollars into real or constant dolfars,
which reflect the actual buying power of inflated dollars over the years. This involves using a base
year, which serves as a comparison for all the other years. As long as the minimum wage remains
unchanged, and as long as inflation continues, the buying power of minimum wage earners will
go down. Some people want to link the minimum wage to inflation, so that the wage will auto-
matically rise when prices rise.

4. Why do economists change current doliars into constant dollars to compare the purchasing
power of the minimum wage over time?

Copyright © by The MeGraw-Hill Comparnies, Inc.
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KEY TERMS

unemployed People available for work who made a specific effort to find a job during the past month
and who, during the most recent survey week, worked iess than one hour for pay or profit (page 382)

unemployment rate The percent of unemployed individuals divided by the total number of persons in
the civilian labor farce (page 383)

frictional unemployment Unemployment caused by workers who are between jobs (page 384)

structural unemployment Unemployment that occurs when a fundamental change in the operations of
the economy reduces the demand for workers and their skills (page 385)

cyclical unemployment Unemployment directly related to swings in the business cycle (page 386)

seasonal unemployment Unempioyment resulting from changes in the weather or changes in the
demand for certain products (page 386)

technological unemployment Unemployment caused when workers with less skills, talent, or education
are replaced by machines that do their jobs (page 386}

automation Production using mechanical or other processes reduce the need far workers (page 386)
%ﬁmmmw&mmmﬂmwmmmmmmwmmmmmmmmmmmmm
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Have you ever had a summer job? Did that job end when summer was over7 Did you have to try
to find another job?

In the last section, you learned that there are ups and downs in the economy. This section focuses
how business cycles and other factors cause different types of unemployment.

Use the diagram below to help you take notes as you read the summaries that follow. Think
about the differences between the various types of unemployment.

Unemployment

_ S —

Frictional : Structural Cydlical Seasonal Technological

o
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Measuring Unemployment (page 382)

The Census Bureau surveys households in every state each month to find how many are unemployed.
That category includes (1) people who have looked unsuccessfully for work in the past month

but worked less than one hour; and (2) unpaid workers in family businesses who worked less
than 15 hours. The number of unemployed divided by the total civilian labor force gives the
unemployment rate.’

The unemployment rate is not a true picture of unemployment. It does not count discouraged
workers who have stopped looking for a job. And if a person works a part-time job, even if it is
for one hour, he or she is considered to be employed.

1. What members of the labor force are not included in unemployment figures?

Kinds of Unemployment (page 384)
There are different types of unemployment:

A. Frictional unemployment consists of workers who are between jobs.

B. Structural unemployment occurs when the economy changes so that certain workers and
their skills are no longer needed. Technology, mergers, and cutbacks cause this type of
unemployment.

C. Cyclical unemployment is related directly to the business cycle. Cyclical unemployment rises
during recessions.

D. Seasonal unemployment is due to regular weather changes. For example, roofers are
unemployed in the winter in areas where the winter climate is cold.

E. Technological unempleyment occurs when machines are used to replace lesser-skiled
workers. For example, robots may be constructed that do some jobs formerly done by
people. Autoemation is the replacement of human waorkers by machines or other processes.

2. What kinds of unemployment occur without changes taking place in the economy?

The Concept of Full Employment (page 357)

When economists use the term full employment, they do not mean that nc one is unemployed.
The concept of full employment is the lowest possible amount of unemployment when the
economy is growing and production is going well. Some economists think that full employment
is reached with an unemployment rate below 4.5%. The business cycle makes it difficult to keep
unemployment very low.

3. What is "full employment”?
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